

H.P. Forest Department INTEGRATED DEVELOPMENT PROJECT (IDP) For



Source Sustainability and Climate Resilient Rain-fed Agriculture

(Implemented by H.P. Natural Resource Management Society) District Project Officer, (IDP), Sirmaur at Nahan, Tel & Fax: - 01702-222423. Email Id: dponhn@gmail.com

No. 940	Dated: 31 /08 /2023
То	보면 마음부는 등로 그리고 있는 것이 하고 1일이 생각하는 10일이 보이지 때문이다. 그는 것
	y Singh ar PO Rajpur nta Sahib Distt. Sirmaur (HP)
Dear Sirs,	
for the contract price of R is hereby accepted by us. You are als than 2 days under the in within the contract period	
With the iss Security, the contract, for	uance of this acceptance letter and your furnishing the required Performance the above said work, stands concluded.
	District Project Officer (IDP). Sirmaur at Nahan
Endst.No.DPO/NHN/	Dated, Nahan the/
started/completed with in	warded to APO Paonta Sahib for favour of information and N/action. He is ow site for subject cited work to the contractor and get the work stipulated period under intimation to this office. Please note that detail of tractor duly verified by the work in charge, date of start /completion of work, should be montion / and to the contractor duly be montion / and to the contractor duly be montion / and to the contractor duly verified by the work in charge, date of start /completion of work,

date of measurement of work, should be mention / enclosed with the bill of work.

District Project Officer (IDP) Sirmour at Nahan.

Schedule of quantity for Maintenance of Plt 3rd year Re Aff-DLT under APO Paonta Job No P-

		5/	/Maint :	3rd YI	122-23			enema est	William Bridge	100	
	Chhec		Chhecheti		Gorkhu Wala		Malgi				
	RF Chhecheti		RF Sara Sarta		RF Danda		RF Sara Dhatiyat		0.1000		Amount
					The second second second second		RE aff 10	DLT 3	Total 👙	11010	Amount
하다 하면 보고 하다 하는 것이 되는데요	Re aff 15	DLT 2	110		110				4150	12	49800
Re-digging of pits size 45x4 5x45 cms.	1200	220	400	220	1200	110				-	37350
			400	220	1200	110	800	0	4150	9	
Filling of pits 45x45x45cms	1200	220						0	4150	9	
Planting of plants raised in P/Bags	1200	220							4150	8	38180
Carriage of plants from plt. Road side to	1200	220	400	220	1200	110	000				
plantation area pit to pit avg. lead 1.15					- 100	-	11 31 31		1 10 10		
Km. by manual labour				_	55	0	30	0	140	250	35000
Suply of fence post	55	0						0	140	23	3220
Prep of fence post & digging of holes	55	0	0	0					140	16	2240
	55	0	0	0	55					1	
Fixing of fenbce post	745	630	985	550	745	315	540	0		-	
Repair of b wire						110	800	0			
Cost of P. Pags plants	1200	220	400	220	1200				To	tal	324930





H.P. Forest Department INTEGRATED DEVELOPMENT PROJECT (IDP)For



Source Sustainability and Climate Resilient Rain-fed Agriculture

(Implemented by H.P. Natural Resource Management Society) District Project Officer, (IDP), Sirmaur at Nahan, Tel & Fax: - 01702-222423. Email Id: dponhn@gmail.com

No. 942	Dated: 31/08/2023
То	
	Shri Atma Ram R/O Chereu PO Timbi Teh.Kamaraoo Distt. Sirmaur (HP)
Dear Sirs,	
price of Rupees accepted by us.	This is to notify you that quotation dated 25-08-2023 for the maintenance of ar Re Aff-DLT Job No P-6/Maint./3 rd yr /23-24 for the year 2023-24 for the contract 182598/-(One Lakh eighty two Thousand five Hundred ninety eight only, is hereby ou are also requested to sign the agreement form and proceed with the work not later the instruction of the Project staff, APO Paonta Sahib and ensure its completion art period.
Wit	th the issuance of this acceptance letter and your furnishing the required Performance tract, for the above said work, stands concluded.
,,	District Project Officer (IDP). Sirmaur at Nahan
Endst.No.DPO/NI	HN/ Dated, Nahan the/
Lindstate of the	Copy forwarded to APO Paonta Sahib for favour of information and N/action. He is

directed to provide/ Show site for subject cited work to the contractor and get the work started/completed within stipulated period under intimation to this office. Please note that detail of labour engaged by the contractor duly verified by the work in charge, date of start /completion of work,

date of measurement of work, should be mention / enclosed with the bill of work.

District Project Officer (IDP) Sirmour at Nahan.

Schedule of quantity for Maintenance of Pit 3rd year Re Aff-DLT under APO

Paonta Jo	b No P-6	5/Mair	nt 3rd Yr	177.73			
	M/Kartar Pur		Chandani				
	Wales	C-23	handani (l	(athur) I			
	Re aff 10	DLT 3	Re aff 11	DLT 3	Total	Rate	Amount
Re-digging of pits size 45e4 5e45 cms	800	330	880	330	2340	13	30420
Pilling of pite 45945985cme	\$1010	and metallibration in high growing sector	880	330	2340	8	18720
Planting of plants raised in P/Rage	\$00	330	980	330	2340	7	16380
Carriage of plants from ph. Road side to plantation area ph to ph avg. lead 1 Km. by manual labour	800	Les autorités de la company	In a recovery more desired in the four	330	2340	9	21060
Suply of fence post	35	15	30	15	95	240	22800
Prop of fonce post & digging of holes	35	15	30	15	95	27.5	2612.5
Fixing of feether post	35	-	30	15	95	21	1995
Repair of b wire	590	-	-	205	1685	6	10110
Gost of P Page plants	800	distribution of the same of th	Name and Address of the Owner, where the Park of the Owner, where the Owner, which is th	330	2340	25	58500
			A company of the control of the cont		Total		182597.5
	^				Or say		182598

DPO (IDP)

Sirmour at Nahan



H.P. Forest Department INTEGRATED DEVELOPMENT PROJECT (IDP)For



Source Sustainability and Climate Resilient Rain-fed Agriculture (Implemented by H.P. Natural Resource Management Society) District Project Officer, (IDP), Sirmaur at Nahan, Tel & Fax: - 01702-222423. Email Id: dponhn@gmail.com

No	944 Dated: 39-8-23
То	사용 등 보고 있다. 그런데 보고 있는데 그런데 그런데 그런데 그런데 하는데 하는데 되었다. 그런데
	Shri Naresh Kumar R/O Kanti Mashwa Teh.Kamaraoo Distt. Sirmaur (HP)
Dear	Sirs,
price than	This is to notify you that quotation dated 25-08-2023 for the maintenance of ation 3 rd year Enrich-DLT Job No P-7/Maint./3 rd yr /23-24 for the year 2023-24 for the contract of Rupees 65198/-(Sixty five Thousand one Hundred ninety eight only, is hereby accepted by us. You are also requested to sign the agreement form and proceed with the work not later 2 days under the instruction of the Project staff, APO Paonta Sahib and ensure its completion in the contract period.
Secui	With the issuance of this acceptance letter and your furnishing the required Performance ity, the contract, for the above said work, stands concluded.
	District Project Officer (IDP). Sirmaur at/Nahan
Endst	.No.DPO/NHN/ Dated, Nahan the/
starte labou	Copy forwarded to APO Paonta Sahib for favour of information and N/action. He is ted to provide/ Show site for subject cited work to the contractor and get the work ed/completed within stipulated period under intimation to this office. Please note that detail of it engaged by the contractor duly verified by the work in charge, date of start /completion of work, of measurement of work, should be mention / enclosed with the bill of work.
	District Project Officer (IDP) Sirmour at Nahan.
	[1] 시마스 발표에게 하는 생님이 되었다. 그 나는 나는 아이에 그 아이들이 되었는데 얼마를 가능했다. 이 그렇게 하는 사람들이 없다.

Schedule of quantity for Maintenance of Plt 3rd year Enrich-DLT under APO Paonta Job No P-7/Maint 3rd Yr /22-23

	RF R	ajban				
	Enrich 15	DLT 1	Total	Rate	Amount	
Re-digging of pits size 45x4 5x45 cms.	600	110	710	15	10650	
Filling of pits 45x45x45cms	600	110	710	8	5680	
Planting of plants raised in P/Bags	600	110	710	7.5	5325	
Carriage of plants from plt. Road side to plantation	600	110	710	5	2662.5	
area pit to pit avg. lead 0.750 Km. by manual labour			÷-,			
Suply of fence post	60	0	60	240	14400	
Prep of fence post & digging of holes	60	0	60	28	1680	
Fixing of fenbce post	60	0	60	20	1200	
Repair of b wire	575	400	975	6	5850	
Cost of P. Pags plants	600		710	25	17750	
GOST OF THE SECTION O				Total		
				Or Say		

Sirmour at Nahan